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SECTION-1:(Compulsory Section)
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MATHEMATICS AND SCIENCE

: 3 °E  3tfereRay 20 @ 400
. dy

. TS +y3-3xy=07H = T

T

xz—y

B Y24x

22
yz_x

(B)

xz'-i-y

©) Vg |
D) T ¥ FE T
. Fret ¥iF ¥ o w1 g e ¥

(A) 2mrh (B) %nrzh

©) %mzh ©) T A FE T

. 9If¢ sin A cosB—cos A sin B ®

A—B=%, T ST °HHE B :

1

B GV (B} “1

©) % (D) ¥ 4 HIE T
. UF UEHH % 99 T

(A) 1073 9.

(B) 10°°H=

(C) 10°%aTt

D) sﬁﬁﬁéqﬁ

(2)

Time : 3_ Hours

1.

Max. Marks : 400

d
The value of ?1% in equation

¥+y-3xy=0is:

xz-*

A)

y2+x
yz_xz
yz—x

B)

'x2'+y

& I,
(D) None of these

Formula for the volume of a cone is :

3
(A) 2nrh (B) Z:'trzh

1
© g'“:" ’h (D) None of these

L e
| 6

sin A cosB —cos A sin B
then its value will be :

GV B) 1

(C) % (D) None of these
One micron is equal to :

(A) 103cm :

B) 10%m

(C) 105cm

(D) None of these




-_m

. 3 log 1(3=0.477 T log, 2023 =1 71

(A) 36.925
(B) 35.925
(C) 30.925
D) T ¥ *E T

-1
2
2| R R

L=~ US T )
00 ~1 Lh |j=

s s
(g ey

[-1 2
B) 3 5

3 =5
BNy
D) T 4§ HE T

. Tt g & Y ATl e v s
B eicae it i

@ y=x2

dx
=D
e ==y

dx
) I=E—

dy

- (D) T ¥ wE T
P (3)

If log 1(3=0.477, then log;;20%° will
be equal to : '

(A) 36.925

(B) 35.925

(©) 30925

(D) None of these

2 1 -1
3.5 - 2
Matrix | 4 7 2| is
4 8 4

(A) horizontal
(B) vertical
(C) diagonal

(D) None of these

. 2 5],
Inverse of matrix A= et

s
5l 3
=1 2
. (B) 33
3 -5
© |4 2

(D) None of these

. Differential equation of the line passing

through the origin will be :

e
@) y=»--

(B) b ==t y.‘é}.
dx

dx
=x—
€ r=rg

(D) None of these




9.

10.

11.

12.

13.

mﬂﬁﬁmﬂﬁﬁ@?ﬁ%
(A) Ter T W
B) ferRTE W
(C) TR dmUsHA W
(D) 37 ¥ foret o ot T

& wEEE 300 rpm. ¥ YH W R
T wiE o feradwre ® T
(A) 5 :

B) 3

5

D) T ¥ FE T

TH 100 Hiex @ TgifEE TR
wfqde 0.855 2 & | Afg R i IS
el 3.31x 102812 €, @ Tt
1 gfareesar ar

(A) 2.73x108Qm

(B) 2.83x108Qm

(C) 2.93x108Qm

(D). T | g &I

THET 5+ Tx— 32 F wA =AM
7

(A)

(B)

©)
(D) T ¥ ®E T

& eyt T Y eAiaftn S YR
o

(A) T T

(B) T& W

(C) 3

(D) = e ot 7

W= Wl WP

(4)

10.

11,

12.

13.

Isothermal process occurs at :
(A) constant volume

(B) constant pressure

(C) constant temperature
(D) None of these

A flywheel is rotating at 300 r.p.m. Its
angular velocity in radian/second is :

XA} 8

By 3
€y 2
(D) None of these

Resistance of an aluminium wire of
100 metres length is 0.855 Q. If area of
cross-section of wire is 3.31x1072 cm?,
then its resistivity will be :

(A) 273x108Qm

B) . 2.83x108Q m

(C) 2.93x10%Qm

(D) None of these

Sum of the roots of equation
5 4 7x—3x* will be :

2
(&)

3
o
® 3
7
3

©)
(D) None of these -

The internal energy of an ideal gas”
depends upon :

(A) temperature
(B) pressure

(C) volume

(D) None of these



14.

. 18

16.

17

18.

19,

- (B)

(A) 98

e 61 T g3 g €

(A) ML B) ML2

(D) T F e T

TS GRS 99 1 T TR § 1H
BT ¥

(A) 1013 feedie

(B) 107 fepeirdieX

(©) 103 foparHtsx

(D) TH ¥ =i Tl

TN Tk SAEf w0 g © et
oo gt € -

(C) ML3

(A) 10715 .

(B) 10710 =

(C) 1075 =.

(D) T ¥ ®E T

ferelt e 1 o 8.4x103 ferat. ARt ®
T T A H 9% T 8.7x 103 Rt/
Eo R 1 e e ‘
(A) 52% B) 4% |

(C) 3.6% (D) T QA HE T

T HIHR & T 2 FHE § 1200
rp.m. ¥ 1800 r.p.m. B St 2| T
Fofg amEfg ¥ 0

(A) 10m ez

51 feam

(C) 2n e

(D) TH 9§ HIE 7RI

&ifost ¥ 30° g o | 2 fohell 1 TR
A% @ S § | A qa T = w
S =ur Ui 0.7, ®, W sl W
Y0 g B HE T

®B)
(D) 7§ H T

118

(Cy 1L

(5)

14.

13.

16.

17.

18.

19.

Dimensional formula for the density
15 &

(A) ML
(C) ML3

(B) ML™
(D) None of these

The value of one light year in kilometre.
is approximately :

(A) 1013 km

(B) 107 km

(C) 103 km

(D) None of these

Atom i$ a charged particle, radius of
which is :

(A) 105 m

B) 1010m

(Cy 10— s

(D) None of these

Density of a metal is 8.4x103 kg/m3,
but density with an experiment is found .
8.7x10% kg/m>. Percentage error is :

(A) 5.2% (B) 4%
(©) 3.6% (D) None of these

Speed of a motorcar increases from
1200 r.p.m. to 1800 r.p.m. in 2 seconds.
Its angular acceleration is :

(A) 10w radians

(B) 5m radians

(C) 2m radians

(D) None of these

A block of 2 kg is kept on an inclined

'plane at 30° from the horizontal. If

coefficient of friction between the
block and plane is 0.7, then the value
of the frictional force is :

(A) 9.8 B) 119

L (D) None of these



| 20, T TREE WA S A €

(A) ST T G &
(B) Haa dgd &

(C) Fod T &
©O) T q FE T

21. fotses =0l wefdfa = ¥
(A) NH,
(B) CaOCl,
(C) Ca(OH),
@) T & wE T

2. fpesd # T uiE B §
(A) =H
(B) W ¥ %A
(C) sfek :
(D) T ¥ =E &

23. QﬁpHWWW@ﬁT%:
(A) =T
B) &=
(C) SEEH i
(D) T ¥ HE Tl

24. el Tew fRE YR T 87

©(A) YRR @@
®B) fgw wam
(C) Tm= @aul
(D) T | HE Tl

25. S W oA oA B ©
(A) I I
B) w-fafea =t
(C) HR-TeA &l
(D) T A HE T

26. ufafes e &1 [UPAC T © :
(A) TIHEE A
(B) Tfdfes v
(C) WIESH =T
(D) TH ¥ &3 A&

(6)

20.

21.

22.

23.

24.

25,

26.

A moving electron produces :
(A) electric and magnetic field
(B) electric field only

(C) magnetic field only

(D) None of these

Bleaching powder is represented by :
(A) NH;4

(B) CaOCl,

(C) Ca(OH),

(D) None of these

Coagulating power of alum is :

(A) less

(B) below normai
(C) more

(D) None of these

Solution with zero pH value is :
(A) acidic

(B) alkaline

(C) neutral

(D) None of these

What type of salt is potash alum ?
(A) Primary salt

(B) Double salt

(C) Normal salt

(D) None of these

The statues of bronze are made of :
(A) copper

(B) copper-nickel

(C) copper—tin

(D) None of these

JUPAC name of acetic acid is :
(A) ethanoic acid

(B) acetic acid

(C) methanoic acid

(D) None of these



27.

28.

29,

30.

31.

6
aﬁ%=;,ﬁanﬁgﬁ1ﬂ:

(A) 6

B) *6
o) b
(D) T § &I 7l

27.

'Wﬂrﬂw%iﬁ7aﬂf—4%,a‘r 28.

THERIOT B :

(A) x2+3x—28=0
B) —x*+3x+28=0
(C) x2-3x-28=0
D) T | e TEI

afg gt 322 -4x—6=0 & A 29

o, B %, T o2+ p? H WA TN :
(A)

(B)

© 52
(D) T8 & % T

Pt T B 3 T (c— 3) 3. 30.

(x+4) Ff. a2 (x+ 5) T E, B
H e BT

(A) - 12, 13, 15 ¥

B) 5, 12, 13 &I

(© 11,9, 3 9.

(D) ¥ ¥ Sig &l

g 27, 23, (x = 4), (x +4), 15, 3 a1 7 31.

T THAERR WET 15 §, d x @ HAH
B :

(A) 5

(B) 10

©) 15

D) THH 9§ HE TRl

(7)

e é then the value of x will be :
0O x :
A) 6

B) *6

(C) =6

(D) None of these

If

If roots of an equation are 7 and —4,
then the equation will be :

(A) x°+43x—28=0

B) —x2+3x+28=0

TE©) 2-3x-28=0

(D) None of these

If roots of eqﬁation 3Pl —6=0are
o, B, then the value of a?+ B2 will
be :

(A)

@) =

e 22

None of these .

D)

In a right-angled triangle, sides are
(x—-13) cm, (x+4) cm and (x + 5) cm,
then its sides will be :

(A) 12, 13, 15 cm

(B 5,12 13 cm

(C} 11,9, 3cm

- (D) None of these

If arithmetic mean of 27, 23, (x —4),
(x+4), 15, 3 and 7 is 15, then the value
of x will be :

A) 5

B) 10

(C) 15

(D) None of these



32

33.

. 5l T 3 WS H YA 2,850 T, W

3.

35.

TR ke + 3y =~ 3, 12x + ky=—k
k 1 HF B

(A) 6

(B) 4
(cy 2
(D) T § FE T

35@%‘(2'&3%@?1,850%6%

2 FHt aen 2 BN H YA W

(A) ¥2,000

“(B) ¥2200

(©) T2400

©) T § FE T

NABE 3 aead, ZBE(-2%

/C=y° and £C—-£B=9°, & Frgst

(804250, 152807

() 13s00re

©) 259, 73°, 82°
(D) T | H Tel

P (32— 9) &R x%—5x + 6 H AW
B

A) x-3)
® @+3)
©) -3
(D) T q B T

32.

33.

-

In equations kx+3y=- 3 and
12x + ky = — k, the value of & will be :

(A) 6
B) 4
© 2

(D) None of these

The value of 3 chairs and 2 tables is
T 1,850 and 5 chairs and 3 tables cost
Z 2,850, then the value of 2 chairs and
2 tables will be :

(A) 2,000
B) ¥2,200
(C) T2,400.

(D) None of these

In AABC LA =3x°, ZB=(3%-2)°
ZC=y° and LC—-LB= 9°, then the
value of angles of the triangle will be :

(A) 25°, 75°, 80°
(B) 159, 80°, 85°
(€) 25°,73°, 82°

(D) None of these-

H.C.E. of equations (x?>—9) and
x2—5x + 6 will be :

A x-3)

(B x+3)

© @-3? .

(D) None of these



36.

3.

- 38.

39,

RIS Toheor 1 T WA | g HEAE
T Ay S T A9 dren mE | faatea
B S e ©

(A) AT

(B) &

(C) fogem

(D) T | HIE &l

: srefaTers gere 1 wiay aY S
q .

(A) T9H @l

(B) ¥

(C) T=mE .

D) ¥ ¥ T |
e ¢ = GEHE T, B= FEHA
&5 Y dgdl a9 A= SF%d, o TH
Y B

5 gl el
@ B=y  ® =3
(© A=B¢ () B=¢.4

8 qfl. = Fi T AR =i T H
&S <ot ¥1 < F 9w Faw ¥

et frerTem & fau saygs 9a &1 °F

BT (9 ST T3 @1 72x10-3N/metre
-3 T e

(A) 3.62N

(B) 3.62x102N

(C) 3.62x10°3N

© T ¥ FE T

=% g, foes g Rt aree & yefeq
%9 1 A AT S Gehall 8, Hedw! § :
(A) TERUHX

(B) BESMIX

(C) <=giHI

D) T q HE AR

(9)

36.

37.

38.

39.

40.

Deviation of light from its straight line
path when light enters to other medium
is called : '

(A) reflection

(B) refraction

©  deviation

(D) None of these

With the increase in temperature the
resistance of a semiconductor :

(A) - remains same

(B) increases

(C) reduces

(D) None of these

If §= magnetic flux, B = intensity of
magnetic field and A = area, then the
relation among them will be :

a0 e
(ay B=<oo TE) R
(C) A=Bo (D) B=¢.A

A circular plate of radius 8 cm is
immersed horizontally in the water. The
force required to take out the plate from
the surface of water will be (surface
tension of water is 72x10~>N/metre) :
(A) 3.62N |
(B) 3.62x102N

(C) 3.62x1073N

(D) None of these

The device by which we can measure
the velocity of a liquid flowing in the
pipe is known as :

(A) hygrometer

(B) hydrometer

(C) venturi meter

(D). None of these
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1. This sub-section has question numbers 41 to 100, total 60
questions. :
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41.

42.

43.

U2
(3umus-K1)
1S S § T S [EAEl | Hiet A

Yam wreR & fag w@ fR S o

(A) @@ =

(B) T T

(C) &4 T

(D) ¥ § ®iE &l :
32 SRS #1 3 fa= 3w wa 2
T WY B ¥

(A) 8xdx1 GHL.

(B) 7x4x1 &L

(C) 10x4x1 9.

(D) T q HE T

%2 F faE o fesell &1 @ o ©

. (A) IR

44.

45.

46.

B) =

(C) = H

(D) T ¥ FE T

e qur FE T ot ToE § TR @
ST B ¥

(A) L4 (B) 1:6

(C) 19 (D) T 9 HE I
Hi= %1 J=&F 9F Bl €

(A) HIR Gehe

(B) YcH TESHIES

(C) wfcwEm sifeaEs

O) ¥ ¥ HE T

S HE H U Ghio THE W R R

T AT & BT HhAl, TART A § 2
a) s

(B) TR

(C) T Wt

(D) T ¥ @i &l

(11)

41.

42.

43.

44.

45.

~ Section - 2
(Sub-section - K1)

Civil Engineering

In wood working, to cut step or rebate
in a plank, is used :

(A) hollow plane

(B)
(C) plough plane
(D) None of these

rebate plane

One side of the brick has a frog in
which trademark of the manufacturer
is projected. Its measurement is :
(A) 8x4x1 cm

(B) 7x4x1.cm

(C) 10x4x1 cm

(D) None of these

In masonry work the frog is kept :
(A)
(B)
©)
(D)

In foundation and-plinih; the ratio of

upward
downward

in between
None of these

mortar is :
(A) 14
iy 1_:9

B) 16
(D) None of these

Main ingredient of cement is :
(A) copper sulphate

(B) sulphur trioxide

(C) calcium oxide

(D) None of these

In wood working where planer cannot -
be used in narrow places for that which.

“is used ?

(A)

Rasp file
Square file
Circular file
None of these

®B)
©)
D)



47.

48.

49.

50.

51,

52.

yfg ¥ A= <o U agell i W %
(A) Teifrafer weem

(B) YO HAEU

(C) g FEET

(D) T | FE TR

e fo= =1 9 R ¢

(A) 7 & g x Irfas gl
(B) omfos g3 /TR i gl
(C) TR =t g / arafersh g
(D) T ¥ & T

32 H O T YW wH & e fFe
s 1 v fE S § 2

(A) diE (RS

(B) To= RS

(C) Tifyem SiedEs

(D) T ¥ % &

7% geftfa =t ¥
(A) EHH ARA

- (B) fagq @A

(©) T
O) T 9 & T

wefi AHfesl agr gaemr JeRn | e
fewn fe@r smaves g6 €

(A) uf=m

®)

©) =W

(D) =fEgm

goemor wd # waees oid gl | ferd-
S 99 0 W F 9y war 8, W
FEd T

(A) HeH =G

(B) uRuw=

(C) TSR

(D) T8 § *E &

- 50.

(12)

47.

48.

49.

S1.

52.

- ©

To detect old things under ground, the
survey done is : |

(A)
(B)
©)
®)

Engineering survey
Archaeological survey
Geological survey
None of these

~Value of representative fraction is :

A)
(B)

distance on map x actual distance
actual distance / distance on map
distance on map / actual distance

(D) None of these

To provide red colour to brick which
is used ?
(A) Iron oxide

(B) Zinc oxide

(C) Magnesium oxide
(D) None of these

& B .

It represents :
(A)
B)
©)
®)

telephone line
electric line
canal

None of these

It is necessary to show the following
direction on all maps and survey maps :
(A) West

(B) East

(C) North

(D) South

In surveying, the surveyor ties a
instrument on his foot which looks like
a pocket watch. This is called :

) '
B)
©
D)

passometer
parambulator
pedometer
None of these



53.

54.

28,

56.

57.

58.

o9,

%2 9 TFR ¥ T TR S =T -
(A)
(C) 900°C

(B) 1200°C
D) T | HE T

1500°C

AHG B WS T foht # W ¥ ;o

(A) H= # (B) o drex ®
(©) a-—r:ﬂa'ff-_a)) TH 9 BE TRl
I I T TSN H b A TH S
W e o §, aw R -
(A) T HEE

(B) HrE=WI

(C) ﬁr—ﬁﬁrqnaﬂrmﬁg

(D) T 9 FE &

ga&w %1 H FAN W SH el 30 '
S H el 1 e gl

(A) 100 (B) 150

(©) 175 (D) T | HIE T
HaE0 i ¥ fodl Y& | o e %

 foru forment wEm fear W ® 2

(A) <

(B) Y

(C) g VR
D) T & =g T

Eﬁ%wﬁ@@éﬁaﬁqﬁ%@a
I FEd ¥ :
(A) HIE H

(B) YT HId
(C) s 9K

D) T ¥ wE T

Feiero i # wdew w1 fafie Syson
| WY oA Tedt € a9 S) g
H fera g ¥ 1 7 qiaest Feant ¥

A) Toras

(B) WeE gH
(C) Iz

(D) ¥ § % T

(13)

4.

55.

56.

57.

38.

59.

Temperature for burning of bricks
should be : '
(A) 1500°C
() 900°C

(B) 1200°C :
(D) - None of these

Purchase and sale of timber is done
in:

(A) metre (B) square metre
(C) cubic metre (D) None of these

A chemical is mixed to strengthen the
glass, which is :

(A)
(B)
©)
D)

In surveying the number of links of
30 metres chain is :

(A) 100 B) 150

() ' 135 (D) None of these

In surveying to draw a perpendicular
on a line which is used ?

(A) Tape ;

(B) Compass -

(C)  Cross staff

(D) None of these

lead oxide

potash

magnesium oxide
None of these

Source of water visible on the ground
is called :

(A) surface source

(B) underground source

(C) imaginary source

(D) None of these

In surveying, the surveyor has to
measure with the different equipments
and has to enter the measurements on
a book which is called :

(A) book

(B) field Book

(C) register

(D) None of these
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65.

A line is measured with a 20 m chain
with one link short. If distance
measured is 1000 metres, then the.
actual distance will be :

(A) 1020 metres

(B) 980 metres

(€©) 990 metres -

(D) None of these

In surveying the number of persons
except surveyor in a survey party is ; -

(A) 3
© 7

B) S

(D) None of these
First class brick is kept in the water
for 24 hours. It should not absorb the

water below mentioned part of its own
weight :

®

N

(A)

(D) None of these

OO | =t

©

In manufacture of cement which is

- used ?

(A) Borex (B) Plain clay
(C) Limestone D) N0n¢ of these

In surveying, land area is shown on
the drawing sheet at some ratio which
is called :

(A) plain scale

(B) diagonal scale

(C) vernier scale

(D) None of these

In one cubic metre the number of |
bricks is :
(A) 300
(© 700

(B) 500
(D) None of these

K
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66.

67.

68.

69.

70.

71.

72,

73

Main component of cement is calcium
oxide, which has the percentage of :
(A) 20% to 30%
(B) 30% to 40%
(©) 40% to 45%
D) 50% to 70%

Number of arrows provided with one
chain in surveying is :

(A) 10 (B) 6

< 4 (D) None of these
Average sea level of India is assumed
to :

(A) Delhi (B) Mumbai

(C) Bangaluru (D) None of these

pH value of pure water is :

(A) 3 B) 5
Ly 7 (D) None of these

To find the direction and mutual

position of survey lines, angles are

measured, which is known as :
(A) compass survey

(B) theodolite survey -

(C) plain survey

(D) None of these

The wood, which has width or
thickness not more than 5 cm, is called :
(A) log (B) batten

(C) scantling (D) . None of these

Size of modular brick is :
(A) 18x8x8 cm

(B) 19x9%x9 cm

(C) 20x10x10 cm
(D) None of these

The most long line in survey lines, on
which survey work is based, is called :
(A) base line
I(C) survey line (D) None of these

K

(_B) main line
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75.

76.

T

78.

79.

80.

81.

Following allowance is admiss

" the standard size of bricks :

(A) 1% B) 2%
(C) 3% (D) Nonec

An imaginary horizontal I
established in levelling, wt

‘called :

(A) equal line (B) level I

(C) line of s_ight (D) None ¢

The name of wood to make

stick is :
(A) mulberry (B) man gc
(C) sal (D) None

In paint, mainly used as base
(A) zinc

(B) red lead

(C) iron dust

(D) None.of these

In manufacturing bricks, the
material used is :

(A) silica

(B) terpentine oil

(C) alumina

(D) None of these

Number of cement bags in on

ton is :
(A) 20 B) 50
(©) 100 (D) None

One canal mile measures :
(A) 4000 feet (B) 5000
(C) 6000 feet (D) None

To measure area of odd-shapt
shown in the map which is 1

" (A) Pentagraph (B) Clin

(C)- Planimeter (D) None
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87.

(D)

(O

Those trees, in which growth is mainly
in lengthwise, are called :

(A)
(B)
©)
D)

endogenous trees
exogenous trees
common trees
None of these

In transformation of timber, circular or
square sectioned logs are called :

(A) log (B) deal

(C) post (D) None of these

To close the wooden box which is
used ?

(A) Tower bolt

(B) Hasp staple

(C) Sliding bolt

(D) None of these

If the floor of building is made above
the ground level, it is called :

(A)
(B)
©)

plinth
foundation
floor

None of these

According to land measurement
process of Uttar Pradesh, 1 acre is
equal to :

(A) 1.4 bigha

(B) 1.6 bigha

(C) 1.8 bigha

(D) None of these

Those rocks, in which silica is 15% to
60%, are called :

(A)
B)

ultra-basic rocks
acidic rocks
basic rocks
None of these

D)
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88.

89.

91.

92.

93.

Those exogenous trees, which have
pointed leaves, give :

(A)
(B)
©)
®)

soft wood

hard wood
more hard wood
‘None of these

In decay of the timber, the sears are
grown in_the internal side which are
narrow inside and of more width out-
side are called :

(A) heart shake

(B) star shake

©
(D)

annular shake
None of these

Glue available in the form of strips is
known as : | '

(A)
(B)
©)
(€3

resin glue
vegetable glue
blood glue
None of these

Screws used in wood work have the

~ following type of thread :

(A) coarse
(C) . fine

(B) rough
(D) None of these

To make deep slots in wood work

. which is used ?

(A) Firmer chisel

(B) Mortise chisel
(C) Dovetail chisel
(D) None of these

For reinforcement of roof casting
which is used ?

(A)
B)
©
(D)

Cement
Bricks

Tor steel
None of these
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96.
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100.

- (A) square

To divide three branches from main
pipeline which is used ?

(A) Cross. (B) Bend

() Tee (D) None of these

To join reinforced cement concrete
pipes which is used 7

(A) Riveted joint

(B) . Expansion joint

(C) Flexible joint

(D) None of these

In plane-table survey, total area is
divided in big shape as :
(B) rectangular

(C) triangular (D) None of these

Such a wall, on which load is exerted
on its back instead of top, is known as :
(A) retaining wall

~(B) dwarf wall

(C) exterior wall
(D). None of these

Hack-saw used in wood working is
made of : '

(A) mild steel

(B) high carbon steel

(C) high speed steel

(D) None of these

If on looking from the front of a wall
its stone or brick is visible in width

~ and thickness, it is called :
~(A) stretcher

(B) stretcher coarse
(C) header
(D) None of these

Sawing of big size logs by two persons,
saw used is : .

(A) frame saw (B) coping saw
(C) bow saw (D) None of these

K
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41.

42.

43.

4.

45.

46.

Section . 2
(Sub-section - K2)

Electrical Engineering

The substances, which have more
resistivity and the current cannot pass
through, are called :

(A) good conductor

(B) bad conductor

©)
(D)

conductor
None of these

The number of electrons in the orbit

. of main semiconductor material silicon

and germanium is/dre :
A) 1 B 2
<€ 4 (D) None of these

Resistance of a conductor is measured
in :
(A)
(B)
©
D)

ohm
volt
watt
None of these

One horse power is equal to :
(A) 750 watts (B) 735 watts
(C) 730 watts (D) None of these

To manufacture the capacitors of more
capacitance, parallel plates are
connected in series, is called :

(A)
(B)
©)
D)

Mutual inductance is measured in :
(A) henry

(B) volt

(C) ampere

(D) None of these

electrolytic capacitor
paper capacitor

air' capacitor

None of these
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48.

49.

50.
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52.

Dry type secondary cell is :
(A) lead acid cell

(B) lithium cell

©)
®)

carbon-zinc cell
-None of these

Those conductors, material of which
has infinite conductance, are called :
(A) conductor

B)
(C) superconductor
(D) None of these

semiconductor

Number of electrons in ideal insulating
material is :

(A) .0

B) 2

© 3

(D) None of these

High value of non-inductive resistance
.is taken to increase the range of a

voltmeter, is :
(A)
B)
©
D)

galvanometer
multiplier
shunt :
None of these

Which is used to increase the range of
instrument of AC ?

(A)
(B)
©
D)

The instrument, which is used to
measure high resistances in megaohm,

Resistance
Shunt
Transformer
‘None of these

is :
(A)
B)
©)
D)

Megger

one-coil ochmmeter
double-coil ohmmeter
None of these
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54.

O,

56.

a7,

In DC machines special segments,
which are made of hard drawn copper
and cylindrical parts, are called :

~ (A) brush holder

(B) commutator
(C) armature
(D) None of these

The electric machine, which converts
DC to mechanical energy, is called :
(A) generator

(B) alternator

(C) DC motor

(D) None of these

The motor, which runs at constant

speed from zero load to full load, is
called : '

. (A) synchronous motor

(B) DC motor
(C) alternator
(D) None of these

The motor, which gives constant speed,
is : '

(A) series motor

(B) shunt motor

© compound motor

(D) None of these

The generator, of which armature coil
is connected in parallel with shunt field
coil, is :

(A) shunt generator

(B) series generator

(C) compound generator

(D) None of these
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(D)

- (A)

The stationary AC machine, which on
equal voltage and general frequency
transfers electrical energy from one
circuit to another circuit, is :

(A) transformer

(B) motor

(C) generator

(D) None of these

At fixed load and power factor the
efficiency of a transformer is :

(A)
B)
©)

output power X input power
output power / input power
input power / output power
None of these

Transmission of electric power at extra-
high voltage is called primary
transmission. As per ISI, voltage below
300 volts is called :

(A) ultra-high voltage
(B) extra-high voltage
(C) high voltage
(D) None of these

The insulator, which is used as

insulating ring, is :
(A) suspension type
(B) strain type

(C) clipon type
(D) None of these

In AC circuit the ratio of actual power
and apparent power is called :

power
B)
© -
D)

power factor
insulation

None of these
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67.

68.

On the principle of electromagnetic
torque production, the unit of energy
conversion is :

(A) transformer

(B) generator
(C) motor
(D) None of these

In any equipment, the fuse is connected
in :

(A) series

(B) parallel

(C) not connected

. (D) None of these

Metal used as conductor in earthing

is :
(A) . steel
(C) zint

(B) copper
(D) None of these

Device to accumulate the electric
charge is :

(A) voltmeter
© capacitor

(B) ammeter
(D) None of these

The resistance of less diametered (thin)
wire in comparision to more
diametered (thick) wire, having same
length, is :

(A) less

(B) high

(C) normal

(D) None of these

Condpctivity of a conductor is
inversely proportional to its resistance.
Its unit is : -

(A) ohm

. (B) mho

(C) conductance
(D) None of these
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69.

70.

71.

72.

73

74.

©

With the rise of temperature of alloys,
their resistance :

(A)
(B)
©
D)

decreases
remains normal
increases

None of these

One kilowatt is equal to the following
metric horse power :

(A) 134 B) 136

1.38

The voltage source, in which end

voltage is always constant or the

voltage does not depend upon the
current, is called :

(A)
(B)
© .
D)

practical vdltagc source
ideal voltage source
dependent voltage source
None of these

A voltage source of 100 chemical cells
has e.m.f. and internal resistance of
2.1V and 0.03 Q respectively. Its
equivalent cutrent source will be :
(A) 2 amperes (B) 60 amperes
(C) 70 amperes (D) None of these

The instrument used to measure the
electromotive force and internal
resistance of a cell is :

(A) potentiometer

(B) ammeter

(C) galvanometer

(D) None of these

The device, which is used to convert
AC/voltage to unidirectional current/
voltage, is :

(A) transformer (B) rectifier

(C) generator (D) None-of these

(D) None of these
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T3,

76.

.

78.

80.

The magnetic property developed in a

~ conductor due to flow of current in it

is called :

(A) magnetism

(B) resistivity

(C) electromagnetism
(D) None of these

Vector sum of resistance and reactance
is called :

(A) impedance

(B) resistance

(C) vector current

(D) None of these

Power factor in AC is :
(A)
<G 0

-1 B) 1

(D) None of these

Which is used to decrease or increase

“the intensity of current in a electric

circuit?

(A) Capacitor

(B) Resistance box
(C) Rheostat

(D) None of these

The transformer having only one
winding, which acts as primary and
seconda;'y both windings, is :

(A) auto-transformer

(B) single-phase transformer

(C) three-phase transformer -

(D) None of these

If an ammeter is connected in parallel
with the electric supply, it will :

(A) work properly

(B) burn

(C) not work

(D) None of these
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81. Unit of magnetic flux is :

- (A) form of magnet

Its symbol is MMF and its unit is :

(A) weberxmetre
(B) weber/metre
(C) weber

(D) None of these |

4

Transfer of electric power from one
coil to another in a transformer oCCurs .
in the :

(B) form of electricity
(C) form of electromagnet

(D) None of these

The force, which develops magnetic
effect, is called Magnetomotive force.

(A) Volt

(B) Ampere

(C) Watt

(D) None of these

Two capacitors are connected in series.
Their equivalent capacitance will be :

1
(A) Colls
(B) C1+C2
C1+C2
1 g

(D) None of these
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85.

86.

87.

88.

Resistance in the circuit shown in the
figure is :

nnnnnnnnnnnnnnnnnnnnn

.
e

(A) 4Q

B) 2Q

© 1Q

(D) None of these

Static electric machine, which

transforms electric energy to electric
energy, is called :

(A) motor
(B )- transformer
(C) - generator

(D) None of these

If transformer is tested on zero load, it

.is called :

(A). single-circuit test
(B) short-circuit test
(C) open-circuit test

(D)- None of these

The area surrounding the electric
charge, on which the effect of charge
can be realised, is :

(A) electric field.
(B) charged field
(©) magnetic field
(D) None of these
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89.

90.

91.

- 92,

93.

94.

™

Unit of intensity of electric field is :
(A)
B)
©
D)

newton-coulomb
newton/ coulomb
coulomb/newton
None of these

If work done to bring a charge of
1 coulomb from B to 4 is 1 joule, then
the potential difference between ABis:

(B) 2V
(D) None of these

(A) 3V

© 1V

If some dielectric substance is kept
between the plates of a capacitor, its
capacitance :

(A) increases
®)
©
D)

The S.I. unit of electric current is

reduces
remains constant
None of these

ampere, which may be called :
(A)
(B)
©

coulomb/minute
coulomb/second
coulomb

None of these

One ampere current means that
6.25%x1018 electrons. pass through one
end of a wire, in which time taken is :
(A)
®)
(C) 1 second

(D)' None of these

10 seconds
5 seconds

According to Ohm’s law, current
passing through a solid conductor at
constant temperature, is :

#) I=% ® I=%
(C) I=VxR (D) None of these
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The resistance of a conductor is directly
proportional to :

(A) the area of cross-section

(B) the length

(C) the voltage

(D) None of these

In an electric circuit, the algebraic sum
of all the currents meeting at a junction
is zero, it is called :

(A) Ohm’s law

(B) Joule’s law

(C) Kirchhoff’s law

. (D) None of these

In meter bridge a wire of 1 metre length
and equal area of cross-section is fitted,
its material is : :
(A) . magnin

(B) aluminium

(C) steel

(D) None of these

Which is used to vary the flow of
current in an electric circuit?

(A) Conductor .

(B) Rheostat

(C) Voltmeter

(D) None of these

Specific resistance of aluminium is :
(A) 2.8x104Qm
B) 2.8x10°Qm
(C) 2.8x103Qm
(D) None of these

Which is used to make heater element?
(A) Nichrome '
(B) Magnin

Y Plasnown’

(D) None of these
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41.

42.

43.

44.

45.

46.

Section - 2
(Sub-section - K3)

Electronics Engineering

When the electron of an atom comes
on lower stage from upper stage, then
it emits :

(A) current
(C) sound

To get laser beam, following is used :
(A)
®B)
©
D)

Electric switch is a/an :
(A) digital device

(B) electrical device
(C) mechanical device
(D) None of these

To convert decimal number to binary
number the figure of decimal number
is divided by the following again and
again :

(A) from 1
(C) from 4

(B) light
(D) None of these

Chromium oxide
Aluminium hydroxide
Ruby crystal \
None of these

(B) from 2
(D) None of these

AND gate is known as :
(A) NOT gate (B) OR gate
(C) Logic gate (D) None of these

The components, which can amplify
power of signal in circuit, are :

(A) active components

(B) passive components

(C) neutral components

(D) None of these

An ideal amplifier should have :
(A) O input resistance

-(B) O output resistance

(C) 0 voltage gain
(D) None of these
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48.

49.

50.

51.

52.

53.

(A) UPS

(D) None of these

(D) None of these

~ voltmeter having 3.5 digit will be :

Control unit is a part of :

(B) Monitor
(C) CPU

The IC, in which output is proportional
to input, is called :
(A) linear IC
(B) hybrid IC
(C) monolithic IC
(D) None of these

Number of diode used in double peak
Zener diode clipper is :

@ 1 ®) 2
€ 4 D) 6

OP-AMP amplifier s :
(A) high gain

(B) less gain

(C) mnormal gain

Maximum reading of a digital

(A) 9999
B) 1999
(G, 105
(D) None of these

In an optical fibre cable, signal is
propagated as given below :
(A) current form

(B) voltage form

(C) light form

(D) sound form
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54.

L

56.

58.

a9,

- (©)

MS office is a/an :
(A)
B)
©
(D)

package
system software
application software

None of these

One kilobite is equivalent to :
(A) 1024 bytes

(B) 1090 bytes

(C) 1099 bytes

(D) None of these

SMPS provides : -«
(A) storage of data
(B) control of data
(C) power supply

(D) None of these

Input of EX-OR gate will be high when
output of EX-OR gate will be high,
then : g
(A)
(B)
©)
()

one input high and other low
both high

both equal

None of these

In DVD storing capacity of memory
18 : -

(A)
(B)
©)
D)

24 MB

4.3 GB

6.76 GB
None of these

A colour televison has primary
colours :

(A)
(B)

red, green, blue, yellow
red, yellow, brown

red, green, blue

None of these

(D)
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60.

61.

62.

63.

65.

- (A)

Colour code of a resistance is brown,
black, black, golden, then the value of
resistance will be :

(A) 10Q £ 5%

B) 10Q £ 10%

(© 100Q %+ 10%

(D) None of these

Time period of a waveform is
20 miliseconds, its frequency will be :
(A) 20Hz (B) 50Hz

(©) 100 Hz (D) 200 Hz

Resistance of a semiconductor material
with the increase in-temperaturc :
(A)
(B)
(C) reduces

(D) None of these

remains constant
increases

In a double pole transistor, the thinnest
part 1s known as :

base

emitter

collector

None of these

B)
©)
D)

A diode, in forward biasing which
works like full conductor, is called :
(A)
(B)
©)
D)

linear diode
ideal diode
ordinary diode
None of these

The process, which increases the

“amplitude of electric signal, is called :

(A)
(B)
©
®)

rectification
synchronisation
amplification
None of these
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66.

67.

68.

69.

70.

71.

Heat sink is used in power amplifier
circuit to :

(A) increase output power

(B)  get high voltage

(C) reduce heat loss in transistor
(D) None of these

127 is stored in a digital computer as :
(A) 1111111

(B) 10001

(©) 11000111

(D) None of these

PET is4 ;
(A) unipolar device
(B) voltage controlled device

(C) bipolar device

(D) _ None of these

In a symbol of transmor signal arrow
shows :

(A) base

(B) collector

(C) emitter

(D) None of these

In permanent magnet moving coil

‘measuring instruments, dampmg is

obtained from :

(A) eddy current
(B) air friction

(C) controlled load
(D) None of these

Ohm’s law is true for :
(A) non-linear current
(B) linear current

(C) voltage

(D) None of these
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73.

D)

e i

Efficiency of multiphase rectifier in
comparison with single-phase rectifier

i :
(A) equal (B) 'less !
(C) high (D) None of these .

An integrated circuit is that electronic
circuit which is made on :

(A)
B)
©)
D)

silicon layer
silver layer
copper layer
None of these

The device to increase the level of a
signal or voltage and power is-:

(A) rectifier '

(B) amplifier *

(C) transformer

(D) None of these

In communication system, the signal
before sending from one place to othe},
is :
(A)
(B)
©

demodulated
stored
modulated
None of these

Device to disturb the path of flow of
electric current i1s :

(A)
(B)

resistance
reluctance

(C) capacitance

(D) None of these *

Colour code of one kilo-ohm resistance
is : .
(A). orange, white, yellow, silver
(B) brown, black, red, silver

(C) yellow, red; orange, silver

(D) None of these
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78.

80.

81.

82.

83.

(A)

(B)

Increase of temperature in a transistor
is called :

(A)
B)
©
D)

thermal run away
thermal drop down
thermal increase
None of these

Work of DC amplifier circuit is to
amplify signal. It amplifies :

signal of low frequency

B)
©)
D)

signal of the weakest frequency
signal of high frequency
None of these

Electronic device used to convert DC
power to AC power is :

(A) oscillator

generator

©
D)

amplifier
None of these

The ratio of electron current and
emitter current is called :

(A)
B)
(C)
(D)

collector efficiency
emitter efficiency
base efficiency
None of these

Value of emitter current is :
(A)
(B)
©
D)

total current

collector current and base current
base current—collector current
None of these

Solar cell is :
(A)
(B)
©
D)

p-n-p junction diode
p-n junction diode
Both

None of these
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(A)

CL+C,

B e

©
®)

C;+Cy

C, -G
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85.

86.

87.

88.

©

©

(B

At absolute zero temperature pure
semiconductors work as :

A)
®)

bad conductor
good conductor
normal

(D) None of these
In voltage stablizer following is used :
A)
®)

p-n Junction diode
Zener diode
Tunnel diode

None of these

®)
Barrier potential for silicon diode is :
A SV

B) 12V
€ 07V

(D) None of these

Full form of IC is :
(A)
(B)
(©)
D)

Integrated Circuit
Instructional Code
Information Control

None of these

Two capacitors are connected in seties,
their equivalent capacitance will be :

1
Cl .Cz

Aa)

Cl =k C2
C1.C

©
D)

c,+C,
Cl i CQ‘
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89.

90.

93,

9.

SMPS system is :

(A)
(B)
©)
@)

back-up supply
AC supply
DC supply

None of these

Atom consists of :

(A)

(B)
©
®)

electron, proton, neutron
proton and neutron
electron and neutron

None of these

Vector sum of resistance and reactance
is called :

(A)

(B)

©)

D)

resistance
impedance
capacitive impedance

None of these

Megger is used to measure :

(A)
B)
©
(D)

“high current

high voltage
high resistance

None of these

Fuse is always connected with load in':

(A)
®)
©
(D)

series
parallel
series and paraullel both

None of these

If transformer is connected with DC
supply, it will :

(A)
(B)
©
D)

work properly
burn primary coil
not work properly
None of these
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5.

96.

98.

99,

100.

" (B) LF. amplifier

(D)

- (A)

Tn a superheterodyne radio receiver, after
mixer stage, the signal is given to: '
(A) Local oscillator

(C) Audio amplifier
(D) Speaker

In CRO, time-based signal is applied’
fo: :
(A)
(B) horizontal plates
©)

horizontal and vertical plates

vertical plates
None of these

In television system following is used :

Audio amplitude modulation

(B)

Audio amplitude and vide
frequency modulation

©)

Audio frequency and vide
amplitude modulation

None of these

D)

A better oscillator circuit is :
(A) crystal oscillator

(B) Hartley oscillator

(C) Both above

(D) None of these

Device to convert chemical energy t
electric energy is :
(A)
(B)
(©)
D)

generator
clecﬁ‘ic cell
motor

None of these

VDU stands for :

(A) Visual Display Unit
(B) Video Display Unit
(C) Both above.

(D)' None of these
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41.

42.

46.

47.

[ 3

(D) None of these

©)

Section - 2
(Sub-section - K4)
Mechanical Engineering

Length of the pipe increases or
decreases with the increase and
decrease of temperature for which self-
adjusting joint is used which is called
(A) socket joint

(B) flanged joint

(C) expansion joint'

The process of enlargement of a hole
is called :

(A) boring
© pﬁnching

(B) reaming
(D) None of these

Brasses used as bearing are in :
(B). two pieces
(D) None of these

(A) one piece
(C) solid

To cut the metal in cold state, cold
chisel is used, angle of which is :
(A) 30° B) 45°

(C) 60° ) "N°

For permanent fastening which is used ?
(A) Rivet B) Nut
(C) Bolt @) Cutter
If in riveting process, the thickness of

plates for joining is 7 mm, then the
diameter of the rivet will be :

(A) 1.9+t B) 64t
) 190 (D) None of these

In main pipeline, if in some place
where line is diassembled many time.
then which is used ?

(A) Socket (B) Flange

Union (D) None of these
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48.

49.

50.

31,

53.

D)

D)

(&)

Saw used in wood working cuts the
wood in :

(A) backward stroke

(B) forward stroke

(C) normal

None of these

Shaper machine works on :
(A)
B)
©)
D)

quick response mechanism
quick return mechanism
quick resource mechanism
None of these

The process of enlargement of a hole
to certain distance for increasing its
diameter is called :

(A)
(B)
©)
D)

Diameter of a wire and the thickness
of a plate or sheet are shown in :
(A) inch ; '

(B)  centimetre

©

boring
counter-boring
counter-sinking
‘None of these

gauge number
None of these

To measure length rectangular blocks
of different sizes, whose surfaces are
flat and smooth, are called
slip gauge

(B) limit gauge

(C) plate gauge

(D) None of these

The value of cutting angle of a twist
drill is : '

(A) 180°

B) 118°

(€)' 90°

(D) None of these
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54.

55,

56.

57.

58.

59.

" in double cover plate butt joint W

. be:
9
(A) gt ®B) t
© ‘ét (D) None of th

" (C) diameter of workpiece

The file, in which teeth are projecte
Jike points instead of lines, is called

(A) single-cut file
(B) double-cut file
©
(D) None of these

rasp file

The device, used to hold the workﬁie'
and simultaneously guide the tool, !
called : '
(A) jig |
(B) fixture
©
D)

If thickness of the plates for joining
t, then in the thickness of cover plé

clamp-
None of these

Sine-bar is used to measure :
(A) angle of workpieéc .
B) length of workpiece

(D) None of these

The angle of threads in lead scre
lathe machine is :
(A) 12°
(€. 31

The device, by which pre-drilled or
bored hollow workpieces holden ¢
are rotated, is called :

(A) Chuck (B) Clutch
(C) Mandrel (D) Noneof

(B) 29°
(D) None of
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60.

61.

62.

63.

65.

- (B)

- D)

In mass production, the machine used
to drill many holes at the same time is
called :
(A)
(B)
©
D)

To support the rotating components
which is used ?

(A) Guide

(B) Bearing

(C) Slide

(D) None of these

The forces of 24, 7 and 25 units,
working at a point, are in equilibrium.
Which two forces make right angle?
(A) 24,25 (B),. 7,25

(C) 24,7 (D) None of these

multispindle drilling machine
radial drilling machine
sensitive drilling machine
None of these

Heat treatment operation, in which
composition of metal does not change,
1s called :

(A) normalising
flame hardening
carburizing

None of these

©)
(D)

To decrease the length of a rod and to
increase the area of cross-section of
that rod is called :

(A)
B)
©
D)

fullering
upsetting
setting down
None of these

"Metal for the brasses of a crankshaft

g
(A)
(B)
©)

aluminium
cast iron

gun metal
None of these
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67.

68.

69.

70.

(A)

Metal of piston in two-stroke petrol

engine is :

(A) aluminium

B)
© brass
(D) None of these

copper

Connecting rod of internal combustion

engine is made of :
cast iron

(B) forged steel,
©)

®)

mild steel

None of these

Melting ore of iron in cupola furna

is called :

(A) mild steel
(B) wrought iron
(C) cast iron

(D) None of these

Tool steel, in which percentage
carbon is 0.8% to 1.5%, is called

(A)
(B)
©)
D)

high carbon steel
medium carbon steel
low carbon steel

None of these

Bronze is an alloy of

" (A) copper, zinc, magnesium -

®B)
©
)

copper, tin
copper, magnesium

None of these
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72,

p = 3

74.

75,

76.

(A) 10N

(A) 802N

To make iron sheets corrosion resistant,
zinc is coated on them. Such sheets
are called :

(A) B.L sheets

(B) T.I. sheets

(C) GI. sheets

(D) None of these

Minimum' resultant of two forces of
30 N and 20 N will be :
B) 15N

(C©) 50N (D) None of these

The force, which brings the body in
static equilibrium with all the forces
acting on the body, is called

(A) couple

(B) equilibrant force

(C) resultant force

(D) None of these

Unit of stress is :

(A) newton - metre _
(B) newton / metre
(C) newton / metre?
(D) None of these

If a force is resolved in rectangle, the
forces are called :

(A) resolved parts

(B) components

(C) resultant force

(D) None of these

A force of 80+/2N is pulling a wagon
at an angle of 45° from the track.
Applicable force to pull the wagon is :

B) SON

(C) 160N (D) None of these

K
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D)

To represent a force in magnitude and
direction, a diagram is drawn at
appropriate scale which is called :

(A)
(B)
©
(8))

force diagram
vector diagram
space. diagram
None of these -

The resultant of two unlike parallel
forces is :
(A)
B)
©

difference of their magnitude

sum of their magnitude
multiplication of their magnitude
None of these

According to Hook’s law, within elastic
limit, stress is directly proportional to
strain which is called : -
(A)
(B)
(C) bulk modulus
(D) .None of these

shear modulus
Young’s modulus

30 kN tensile force is applied on 2
circular steel rod of diameter 2 cm
Tensile stress on the rod will be :
(A) 90.54 N/mm?
B) 92.54 N/mm*
(C) 95.54 N/mm?
(D) None of these

The property of metal by which o
application of force on 2 body
deforms and if the effect of force '
withdrawn, it comes in the origin
shape, is called :
(A) elasticity

(B) plasticity

(C) ductility

(D) None of these
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82.

83.

84.
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86.

87.

The purest form of iron is -
(A) pig iron

(B) wrought iron

(C) cast iron

(D) None of these

A rectangular hole on an anvil is
called : |
(A) prichel hole

(B) tail hole

(C) hardie hole

(D) None of these

When driver and driven shafts are
parallel, then the gear used is -

(A) spur gear

(B) bevel gear

(C) sun gear

(D) None of these

To convert linear motion to rotational
and rotational motion to linear motion -

which is used ?

(A) - Helical gear -
(B) Rack and pinion
(C©) Bevel gear

(D) None of these

In internal combustion engine, fuel
burns :

(A) outside the cylinder ‘

(B) in turbine of the cylinder -

(C) inside the cylinder

(D) None of these

In vertical internal combustion engine,

the distance between top dead-centre
and bottom dead-centre is called :
(A) stroke length

(B) clearance volume

(C) stroke volume

(D) None of these

TR —— e
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To minimise the fluctuations in the
speed of an engine which is used ?

(A) Crankshaft

(B) Flywheel
(C) Camshaft
(D) None of these

The device to convert mechanical
energy into pressure energy is @

(A) motor

(B) rectifier

(C) compressor

(D) None of these

Lathe used for mass production i *
(A) Capstan lathe

(B) speed lathe

(C) bench lathe

(D) None of these

In lathe machine, lead screw has :
(A) square threads

(B) acme threads

(C) metric threads

(D) None of these

Lead screw in lathe machine, is used
for : .

(A) drilling

(B) centering

(C) threading

(D) None of these

In mass production on big lathe
machines to hold the heavy work-
pieces, are used : '
(A) hydraulic chuck

(B) collet chuck

(C) four-jaw chuck

(D) None of these
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94.

95.

96.

98.

99.

100.

To provide different shapes by
hammering or bending to sheet metal,
the tool used is :

(A) surface plate

(B) stake

(C) angle plate

(D) None of these

In gas welding work, to produce

- acetylene gas water is reacted with :

(A) magnesium oxide
(B) calcium carbonate
(C) calcium carbide
(D) None of these

Flux used for brazing is :
(B) tin
(D) None of these

_(A) borax
(C) lead

Indexing is done on the :
(A) lathe machine

(B) milling machine

(C) drilling machine

(D) None of these

Percentage of carbon in low carbon
steel is :

A 1.1% B) 0.7%
(C©) 0.45% (D) None of these

To paint iron surfaces in primary stage,
whih is used ?
(A) Iron oxide

- (B) White lead

(C) Red lead
(D) None of these

To supply water in main pipeline, the

~device used to supply water in one

direction is :

(A) stop valve
(B) gate valve
(C) supply valve
(D) None of these
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41.

42.

43.

44,

45.

46.

Section - 2
(Sub-section - K5)

Information Technology

The value of coefficient of friction at
fully smooth surfaces is :
(A) 0 B) -1
{(C) 1 (D) None of these

In frictionless machines, mechanical
advantage is :

(A) less than velocity ratio

(B) equal to velocity ratio

(C) more than velocity ratio

(D) None of these

Within elastic limit, stress is directly
proportional to strain. It is :

(A) Ohm’s law

(B) law of equilibrium

(C) Hook’s law

(D) None of these

Rate of change of angular velocity is :
(A) angular acceleration

(B) acceleration

(C) linear acceleration

(D) None of these

For every action there is an equal and
opposite reaction. It is Newton’s :
(A) first law

(B) third law

(C) second law

(D) None of these

A wheel of 10 kg weight and 0.4 metre
diameter is revolved at its axis. If it is
revolving at 2100 r.p.m., then its
moment of inertia will be :

(A) 0.8 kg

(B) 8 kg-m?

(C) 0.4 kg-m?

'(D) None of these
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48.

49.

50.

52,

© (A) 1.3x107

(D) None of these

The value of one electron-volt is :
(A) 1.6x107% joule

(B) 1.6x107! joule

(C) 1.6x107 joule

D) None of these

300 mA current is passing through a
lamp in one minute, the flow of
electrons in the lamp will be.
(if e=1.6x10'°C) :

(B) 1.13x1020
(C) 1.13x102%5
(D) None of these

Decimal number 19 is equal to the
following binary number : :
(A) 11011 (B) 10011

(C) 11100 (D) None of these

The value of one Newton is :
(A) 1 kg-metre/second

(B) 1 gm-cm/second

(C) 1 kg-metre/second?

Instrument to convert mechanical
energy to electrical energy is :

(A) dynamo

(B) ammeter

(C) transformer

(D) None of these -

Metal, which reacts with water at
normal temperature, is :

(A)
(B)
(C) aluminium

(D) None of these “

iron

sodium
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53.

56.

57.

58.

59,

Periods in Mendeleefs periodic table

are :
A) 11 B) 9
(oo D) 5

When sodium acetate is heated with
soda lime, it produces :

(A) CH, (B) CH,

© CH, (D) C,Hy

Property of magnetic lines of force j :
(A) concurrent

B) - never cut each other

(© paralle]

(D) None of these

The device, which stores electric
charge, s - '
(A) conductor

(B) voltmeter

(©  capacitor

(D) None of these

Hybrid Computer ig Mixture of digital
and analog compuyter. ¢ is :

(A) True

(B) False

(C) Not known .

(D) . None of these

In internet 3

(A) circujt Switching is yged
(B) packet SWitching is yged
© hybrid sm’tching is used
(D) None of these

(A) Telephone €xchange
(B) Elecrn’city department
© 1sp

(D) None of these
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60.

61.
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65.

Printing a file by computer is called :
- (A) hard copy (B) soft copy

(C) com. (D) None of these

CPU reads the information from the

secondary memory -

(A) direct

(B) information is transferred to maie
memory

(C) by register

(D) None of these

In which menu, spelling comante
appears?

(A) Windows (B) Edit

(C) Tools (D) None of thes:

Which of the following is a part
central processing unit?
(A) Arithmetic logic unit
(B) Keyboard

(C) Printer

(D) None of these

First page, which is normally viewe
on a website, 18 :
(A) Master page
(B) Home page
(C) First page

(D) None of these

Binary number system is the base of
(A) 16 B) 4 ‘
© R (D) None of the

A mouse, trackball and joystick @
examples of :
A
®)
©
D)

Pointing device
Pen input device
Multimedia device
None of these
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67.

68.

69.

70.

72,

The value of the angle between the
surfaces 3x4y+5z=0 and 2x-y-2z=35
will be :
(A) 30°
(C) 90°

(B) 60°
(D) 120°

If x is replaced by —x in a function,

~ then the value of the function changes.

It is called :

(A) odd function
(B) even function
(C) explicit function
(D) None of these

Differential coefficient of log sin(ax+b)
w.r.t. x will be : '
(A) cot(ax+b)

(B) acot(ax+b)

(C) asec(ax+b)

(D) None of these

The equation of a normal from point
(0,1) on curve y=¢€* is :
(A) y—=x=0 (B) xy=1

©) x+y=1 D) —=xy=1

Maximum value of (a sind + b cos6)
is :

A) J@*+p%

B) (@®-b?)

CF J* =2
(D) None of these

On measurement of sides of a cube an
error of 1.5% is observed, the error in
measurement of the volume of the
cuboid will be :

(A) 2.5% B) 4.5%
©) 5% D) 1.5%




j

73.

74.

T3.

76.

71.

78.

) ;
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"

75,

76.

i

78.

24855 .9 .
The value of E cos” x.sim” xdx is:

4 315
(A) 315 ® -3
- g 315
© 335 ® 4

If two unequal and unlike forces are
acting on a body. then the resultant will
be

(A) difference of both

(B) sum of both

(C) multiplication of both

(D) None of these

On dehydrogenation of ethyl alcohol,
the substance is formed :

A acetaldehyde

(B) acitic acid
(C) methane
(D) None of these

Unsaturated hydrocarben is :
(A) CHy ®) Gl
(©) C,Hy (D) C,H;OH

On burning methans gas in the air, it
reacts with oxygen and forms

A) CO,

®B) - CO,4

(C) SO,

(D) None of these

Organic compound, manufactured in
laboratory in very beginning, 1S :

(A) methane

" (B) urea

(C) sugar

(D) None of these
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The base of modern periodic
classification is :

(A) atomic weight

(B) valency

(C) atomic number

(D) None of these

In the following, acidic oxide is :
(A) P205 ' (B) NaZO
(©) MgO D) AlO4

The metal, which is found like liquid
state in normal temperature, is :

(A) ethelene

(B) mercury

(C) ammonia

(D) None of these

If three forces acting on a body are in
equilibrium state, then each force will
be directly proportional to the sine of
the angle between remaining two
forces. It is statement of :

(A) Avogadro

(B) Pythagomé

(C) Lami

(D) None of these

Polythene is a polymer of :
(A) ethanol (B) ethene
(C) methane (D) None of these

The metal, which oxidises easily, is :
(A) silver (B) aluminium
(C) lead (D) None of these

If forces are acting on many faces of

the body, then these are called:
(A) coplanar forces

(B) concurrent forces:

(C) non-coplanar forces

~ (D) None of these
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(A) 252 ® 0

~257 o -1

©

(128)3 HEAT ¢ '

(A) 5.040

®B) 5.239

(©€) 5.092
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©)

) 3
(D) None of these

Sum of series 3+1+l+-1-+--.oo (i
3 9
R 3
B 3 ® 3
2 i =
9 ) 5

The coefficient of +15 in expansion of

()10 s
(A) 252 ®) 0
C) -252 o -1

The solution of (128)3 by binomial
theorem up to three decimal places is :

(A) 5.040
®B) 5239
(C) 5092
@) 5321

Value of the determinant

;’c2 9% 1

x x+1 1
g 1
is : :
(A @17
© &

®) (-1
®) 1)
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L)

S 6 TEE G WHIRRT xty+z=T,
x+2y+32=16, x+3y+4z=22  TA F
T 9 T :

(A)
(B)

x=2, y=3, z=4
x=1, y=1, z=2
x=1, y=3. z=3

(©) v ¥ B T

gqfe AABC &1 &=5s G ®, @
a+5§+-(?c. Wﬂﬁ-%‘l"ﬂ:

(A) 0 ®) -1
1

o B o

el 3 feame & fRel e ABC 1

IFA BT © -

(A) sa+sb+sc
B) ys(s—a)(s=b)(s-¢)

(C) s.sa.sb.sc

D) T ¥ P T

frdlt s ABC

cos A + cos B + cos C‘=~;i

?h'-ﬁﬂ\_ﬂ B : :

(A) wHfgeTg
(B) wfETg

(C) WHAE

(D) TH ¥ Hg T

3+4i. 1 A T ¢

A) (@2+) B) (=2+)
© (29 (D) T & HE T

[4+3—D12-/-])] # & ¥ :
(A) 11+2J=) B) 9+2./(-D)

©) 11+4(-1) D) FTHIFE T

94,
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91.

92.

93.

Solution of the equations x+y+z=7,
x+2y+3z=16, x+3y+4z=22 by Cramer’s
rule will be :

(A)
(B)
©)
D)

x=2, y=3, z=4
x=1, y=1, z=2
x=1, y=3, z=3

None of these

If the centroid of A ABC is G, then the
value of GA+GB+GC Will be :
A) O (B '~1

A |
© 1 )

In terms of the sides, area of triangle
ABC is :

(A) JJsa+sb+sc
B) s(s—a)(s=b)(s—c)
©

s.sa.sb.sc

. (D) None of these

95.

96.

In a triangle ABC

- 3
cos A + cos B + cos C=E

the triangle will be :
(A) '
(B)
©
D)
The square root of 3-+4i is :

(A (@+) (B) (-2+)

© @) (D) None of these

isosceles
obtuse
equilateral
None of these

Solution of [4+3,(-D1[2—+/(=1]

18 ©
(A) 11+2(-D) B) 9+2(-1)

(C) 11+4/(-1) (D) None of these
: K
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B) -16

(©) 16

D) -8

e g A @ ax+by+c=0‘q‘(€r@f1'm,
s AR el :

a

@ \)b2+c2
b

B) [P+

&)

B)
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97.

98.

99,

100.

(A) equal
(B) half
(C) double
- (D) None of these
Standard  form of ellipsé
- 25x2+16y*=400 is :
2 W2
X g ¥
A) —=+==1
® F*7
i 0
X o Sl
(B) Z’f’f—sg-l
x. Yy
—_—t ==
© 4 (5
(D) None of these

If x, and x, are the roots of the equation
x2_0x+4=0, then the value of x13+x23
will be :
(A) 8
B) -16
(©) 16
(D) -8

Length of the perpendicular drawn on
line ax+by+c=0 from origin will be :

a
) N b+ c?
-
®  J2ie
c 3
© < @+ b?
(D) None of these

Parabola is the locus of that point
which moves such as its distahce from
a fixed point (focus) and a fixed line
(directrix) remains :
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1. wmﬁma‘wm@wowwéom%l
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T KT T

Important Notice :

1. This sub-section has quest10n numbers 41 to 100, total 60
questions.

2. This sub-section is related with Printing Technology trade.
3. Candidate has to solve only one sub-section from K1 to K7.
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41. =

42.

43.

44.

4s.

46.

Tus-2
(su@us-K6)
fufém Tamtest
ﬁ@fw@tmw%

(A) EEfE (B)

€ «R (D) wER
ﬁﬂﬁﬁﬂaﬁ@ﬁ%mﬂw%
(A) A0 (B) Al

@y A2 D) AS
.ﬁﬂm%mﬁﬁaﬁﬁwﬁ
ES S ELU

() dra (i) X

(i) TR (v) SR
(A) (i), (i), @, (V)
B) @), (), (iv), (iii)
©) (Gv), (i), @), (D)
D) (v), @, @), (i)

B HITS & STHR 1 wgd g A o
Hegy,

() A4 (i) A0
(i) A3 iv) A5

(A) (i), (@), @, Gv)
®) (i), (), @v), @)
©) @), (@, (i), (D)
D) ~ Gi), Gv), (), (i)

Wamﬁﬂﬁﬁmﬁﬂﬁﬁﬂﬁ
T ®?

(A) W@ TH-TEE

®) I SH-gAS A
©) TEd-ST TS TX
(D) TR-IT TS TR
HAad ¥ T T
(A) Tk 2 e
(B) TF <0 ufsate
© = g fufen
@) T F HE T

- 4L
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42.

43. A

45.

46.

Section - 2
(Sub-section - K6)

Printing Technology

The largest paper in the following is :
(A) Executive B) Legal
(C) Letter (D) Ledger

The smallest paper-size of the
following is : '
(A) A0
(C) A2

®B) Al
(D) AS
Arrange the following paper-sizes in
descending order :
() Legal () Letter
(iii) Executive (iv) Ledger
(A) (i), G, @) Gv)
®) @), @), @), (i)
©)  (@v), Gi), @), @)
@) @(v), @, @, @D
Arrange the following paper-sizes in
ascending order :
(i) A4 @ A0
(iil) A3 Gv) AS
(A) (i), @), @), Gv)
®) (i), (@, (v), D)
© @), @), GiD, (D)
®) (i), Gv), @, Gi)
Which of the following is not related
to CTP technique ?
(A) External drum-image setter
B) Internal drum-image setter ‘
(C) Double-bed image setter
(D) Flat-bed image setter

DTP stands for :

- (A) Desk Top Printing

B) Desk Top Publishing
(C) Desk To Printing
(D) None of these




E?'“H

47. F= ¥ 9§ s9-w R ¥ fum ¥ 47. Which of the following is different
(A) IR TR from group ?
®) Tﬁﬁ!ﬂ'{ O ; (A) In?er.net c.xplorer
_ _ (B) Mozilla firefox
© T FeiER | (C) Adobe PageMaker
D) T w=H (D) Google chrome
48. = 7 ¥ #F-w R ¥ fiam ¥ 48. Which of the folldwing is different
(A) T8 wE from the group ?
B) sifewe Ay ] (A) Mel.nory card .
¢ i (B) Optical mouse
© = fow (O Hard disk
(D). &tz (D) DVD
49. iz T =1 g7 e & - 49, Main component of print paste is -
(A) 3’ =1 fye - (A) Dye or pigment 2!
(B) dmEféT Wiz o (B) Binﬁing agent
©) fowms (C) Solvent
(D) SWiF gt ; - (D) All of the above
50. TH RAM. wr= TR B ¥ 50. A DTP point is equal to : |
A — 3 .. b,
(A) 6 9 ( .) 6y inc
sl it Ly h
® 77 ' ®) 73 inc [
e ) : Loy 7
©) 22 = | (© g inc
) = % ' ' ol
D 9 B! | : (D) oy inc

Sl 12-WRR R wY ¥ fre ey S S1.  12-point are traditionally known as -

S W E
. (A) Paragon
(A) HRra
(B) fafrre (B) Minion
(C) fa=1 (©) Pica
D) ¥ 9 5 T (D) None of these

(6T, . _ " K




|

52.

54.

55.

56.

iﬁwmwmw%
(A) siffesa freet & fol

(B) wer @ % fau

(C) Furst F AR fa

(D) ﬁﬁﬁﬁ@%mﬁﬂﬁ

(B) qrest g
© (&) ¥R (B) T
(D) TH ¥ FE T

(68)

53.

54.

55.

56.

“Wratten number’ ié used for :
(A) optical filter

(B) colour jel
b

"(C) paper thicknéss

‘ (D) None of these

Which is not a word processor 7.

A Microsoft word

(B) Word perfect

(C) Corel write b

D) Ajax

Which of the following is 2 Times
font ?

a) A

®) #

(C) A

(D) None of these

‘RAM’ is abbreviation of :

(A) Random accessible memory
(B) Read accessible memory

(C) -Random access memory

(D) Read access memory
“Transmission densitometer’ is used to
measure the density of :

A)
B)
©
)

Reflective material
Transparent material
Both (A) and (B)

None of these




57,

58.

59.

60.

61.

ﬁmﬁ‘eﬂam@aﬁﬂﬁmﬁ

EEEHRCI I
() &= (ii) tﬁ?ﬂ
(iii) gFEeE  (iv) @RfET

(A) @), Gii), (i), (iv)

B) (), (i), Gii), (iv)

(©) (@), (i), (1), (ii)

D) (), (i), (iv), (i)

HI-H1 ViR afeafyin @ gafed g
%2

(A) USHHT

(B) @ UG

(C) ke afeefei

D) SR gft

= & 9 36 fiftn = w smyfe
THAIH &2
(A) AT

(B) A

C) ®hH

(D) I =Aw

FS F TS ¥ T IR 9% F g
HIEAY 1 949 s & fow fwan mare
(A) H9-73
(C) TR F T (D) wHE

FITS T B W Td e umg A frg
HIEH 1 341 foram & fow fman T2
(A) =Hel

(B) +fEer &1 =

©) -

D) et fae =1 v
ARSHIREAITH 1 foma gen

(A) icedt vt §

(B) YEdl viai=l §

(C) IREd yaee §

(D) =& et o

(B) HA H YW

(69)

>

)

58.

59.

60.

61.

Arrange the following post-press
process in correct order :

(i)
assembling (iv) binding

(), (iii), (i), (iv)

@), (i), (i), (iv)

(© (iv), @il), @), @i)

D) @), Gi), Gv), (ii)

Which software is related to
publishing ?

(A) PageMaker

(B) Quark Express

(C) Professional Publishing

(D) All of the above

cutting folding
(iii)
(A)
®)

Which of the following is an advance
technique in printing ?

(A) CTE

B) CTP

(C) Screen

(D) Wodden block

Before the invention of paper, which
medium was used to write in North
India ?

(A) Birch-bark (B) Banana leaf
(C) Banyan leaf (D) Leather

Before the invention of paper, which

- medium was used to write in South

India ?
(A) Leather
(B) Palm leaf

- (C) Birch-bark

62.

(D) Black pepper leaf

Microcalligraphy developed in : -
(A)
(B)
©
D)

14th century
Ist centﬁry
12th century
9th century




63.

65.

66.

67.

63.

69.

ey T | B T H AL FCE

(B)

© (A) 3R (B) I

©O) T § w6 T

3D fifem | e ©

(A) 3-°i fufe

®) 3-eEwRE e

() 3-TEHvE U

(D) 3-gr-3% e
ﬁﬂﬁ@rﬁwaﬁgﬁmﬂﬁ%?
(A) weEEITE-a T

®) e T - T R
(©) @A - a-we fifén

D) FR-SE Fem awel
dren el T &1 A9 T w0 M
ddrEyq

(A) <RI B)
©) = (D) o
WWﬁWW%:
(A) 4-wer Tifen

B) <=

(C) 3D fifen

(D) = ¥ HiE T

S 39 o Fefo 1436 9 foan T
(A) Serd T B

(B) & AR T

(C) =™ S&s 5

(D) E g g ,
af 1007 F 1 ew & fiRn whE
a0 w1 ufea ¥g Y= W BRI
(A) S faedad

@®) dge faaE

(C) Sfeas R

(D) T | &S T

63.

64.

65.

66.

67.

- 68.

69.

Which of the following is @ symptom
of Parkinson’s disease ?

(A) Calligraphy

(B) Microcalligraphy

(C) Both (A) and (B)

(D) None of these

3D printing stands for : :

(A) 3-dye printing

(B) 3-direction printing

(C) 3-dimension printing

(D) 3-dry-ink printing

Which of the following is incorrectly
matched ? . ' ‘
(A) Flexography —cane printing

(B) Letter press — fine stationary
© Screen—T-shirt printing

(D) Gravare-huge runs of magazines -

In four-colour printing, cyan, magenta
and yellow are primary colours. Name
the 4th colour : ,

(A) ‘Black (B) Red

(C) Green (D) Silver
Steriolithography is known as :

(A) 4-colour printing

(B) layering

(C) 3D printing

(D) None of these

Letter press was developed in 1436 by
(A) Johannes Guttenberg

(B) Neil Amott

(C) Charles Babbage

(D) Cai Lun

In year 1907, was awarded a
patent for the process of printing screen
using silk fabric : -

(A) John Pilsworth

(B) Samual Simon '

(C) Julius caesar

(D) None of these




70.

1.

T2

13

74.

75.

CTP 3R DTP wafem g & .
(A) B fufen §

B) R fifsnr @

(C) Feiumer &

D) T | et F off 7
‘@E‘H’mzﬁﬁfﬁ%:
(A) Tiefe |

(B) THmfEm @
(C) =nfEs ¥
(D) IV g4t ¥

=1 4 @S- faferer fadsiee
fifen =1 fewm =1 2

(A) =i fafevey

(B) =i=he fafevey

©) 39w fafavex

(D) TR fafervex

HITS T F el TR S
(A) < fefrgm gy

(B) =0 iR Wl g

©) FereE-g5a I g

(D) 79 @ frdt & of g0

wéﬁmwmaﬁwmw '

LB

(A) 9Ra

B) ==

(C) <

D) T ¥ =¥ &

HITS & T 37999 & .
(A) Jegeirs

(B) ey

© (A) 3R (B) 3
D) T I B 7

(71)

70.

71.

T2

3,

74.

75.

CTP and DTP are related to :
(A) screen printing

(B) offset printing

(C) calligraphy

(D) None of these

Plates are usually made from -
(A) Polyester

(B) Aluminium

(C) Plastic

(D) All of the above

Which of the following cylinder is not
a part of litho-offset printing ?

(A) Plate cylinder

(B) Blanket cylinder

(C) Impression cylinder

(D) Paper cylinder

First paper making machine was
constructed by :

(A) John Dickinson

(B) Henry and Sealy

(C) Nicholas—Louis Robert

(D) None of these

Name the coﬁntry in which paper was
first made ;

(A) India

(B) China _

(©) Germany :

(D) None of these

The basic component of paper is :
(A) cellulose ‘

(B) calcium

(C) both (A) and (B)

(D) None of these




76.

71,
- (a) ffém 3@ - 1453

- 178.

79.

80.

81.

fopr 31 S Gl ¥ STIER g §L A
7 et SNy ¢

@ ffen uw

) wwel & ool @ ffen

(iil) RIS

Gv) e e

(A) (@), (i), (i), (@iv)

@) (i), (@), i), @v)

(© (iv), (), (i), (D)

) (i), (), Gv) (i)

e F A FA-T FE GAfE & %2

@B) wom fufen - 1910
©) fefora I8 - 1993
@) wer fifem - 1989

SR €

(A) ®) ¥

) T D) wE

et 1 & B AR <12 S
fufir %2 | .

(A) TR TR

76.

77.

78.

79.

80.

81.

Arrange the following in ascending
order as per their inventions :

(i) Printing press

(i1) Wood-block printing

(iii) Photocopying

(iv) Offset printing'

A) @), @), (i), @)

®) (i), @), (i), ()

©) (@v), @, (i), (D)

@) (i), @), (v) Gid)

“Which of the following is not correctly

matched ?

(A) Printing press — 1453
(B) Screen printing — 1910
(C) Digital press — 1993
(D) Laser printing — 1989

Flexography is suitable to print the

following :
(A) Cup (B) Banner
(C) Poster ®) Card

Which of the following is the method
of making flexographic plate ?

" (A) Photochemical process

(B) Photomechanical process
(C) Laser engraving process
(D) All of the above

Which of the following is not a letter-
press printing technique ?

(A) Rotary

(B) Platten type

(C) Flat-bed cylinder

(D). Plateless

Which of the following is a plateless
printing process ? '
(A) Magnetography

"~ (B) Inkjet printing -

(C) Direct charge-deposition printing
(D) All of the above

K




82.

83.

84.

85.

86.

87.

‘T fegm’ (Ieh T, ¥ HHTER
RO SRS A

(A) ¥t femi

(B) Sferaw R

© & /e

D) T ¥ *E 7@

| TIER g A, e fidt S, wrey

BT :
(A)
(B)
©
(D)

HIT &1 Jee ot THEr-1x o .
(A) ST WNUS (I gEe)

B) M T

(C) HAER g aefv

1854 |
1756 |
1556 H
1821 H

(D) ¥md ¥um

Tﬁﬁﬁ?irmé'ﬁsanTnn'ﬂrnenz'waiﬁnaénﬂ
H WIS a2

(A) 9Ra

(B) =M
(C) =
D) =fEor emfE

Eﬂﬂﬁﬁnﬁﬁnwﬁsﬁmtﬂm
T

(A) el

(B) fagus

©) ?ﬁtnqﬁ _

D) T ¥ #E T

(73)

83.

84.

8s.

86.

87.

A)

©

‘Acta Diuma’ (Dail'y Acts), first news

publishing by

(A) Samual Simon
(B) Julius Caesar
(C) Neil Arnott

- (D) None of these

‘Samachar Sudha Varshan’ fnst Hindi
daily, started in :

(A) 1854

(B) 1756

iy 1556

(D) 1821

First Hindi newspaper of India was
(A) Udant Martand (The rising sun)
(B) Bengal Gazette

(C) Samachar Sudha Varshan

(D) Amrit Prabhat

In which country, the first printed
newspaper was published ?

(A) India

(B) China

(©) Germany

(D) South America

Screen printing is also known as
(A)
(B)
©
D)

Calligraphy
Lithography
Serigraphy -

None of these

Which of the followin g meterials is not

suitable to prepare a printing screen ?
Nylon ;

Silk

Organdy

Wool

(B)

D)




88.

89.

90.

91.

92.

93.

‘w@maﬂﬂﬁzﬁmﬁ'%mﬁmﬁ@r
FH-d1 FE TR 82

(A) 3= fsiegeA

(B) #mm

(C) wH @rd

(D) e fie

firw T T =ROi i W HH W A
Hifed

(i) WX (i) fe=R-Tex

(i) 3 ST (1v) W TSI
(A) (i), (iv), @), (i)

B) (i), @v), (i), (@)

©) (), Gi), (i), (iv)

(D) (i), @ii), Gv), @)

(74)

88.

89.

90,

91.

92.

Which of the following statements is
wrong for screen printing /s

(A) Screen can be washed for re-use.
(B) Itisa stencial technique.

(C) Polyester can be used as screen
material.

(D) It is also known. as calligraphy.

The oldest printing method is :
(A) Linocut

(B) Woodcut

(C) Etching

(D) None of these

‘Blanket’ is used in :
(A) Offset printer
(B) Laser printer
(C) Thermal printer
(D) Inkjet printer

The example of ‘relief print’ is :
(A) Tattoo

(B) Handwriting

(C) Rubber stamp

(D) None of these

Which of the following is incorrect for
electron beam lithography ?

(A) High resolution -

(B) Slow

(C) Low cost

(D) Better print

. Arrange the given printing steps in

correct order :

(i) Sheeter (i) Sticher-gatherer
(iii) ink setting (iv) Register position
(A) (ii), Gv), @, (D)

B) (ii), (v), (D), @)

(€) (@), Gi), Gii), (v)

D) (@), @ii), @v), @)



94.

95.

96.

97.

98.

99,

100.

(A) EWMTE. SR 2013
(B) ME.HFIU FIAEM, 2008
(C) ww faga %9, 2010
O) TH ¥ FE T

‘o % 3w W e’ wyeR &Y
(A) ShuTH

(B) Tt

(C) Fefursr

D) TH 4§ F5 7T

CMYK ¥ a5 ® :

(A) vH, TS, A, @t
B) M, TS, A4, 9
(C) v, TS, Iel, =iF
(D) &M, T, &, Foa

‘W e § fiff o
(A) FHT T '
B) =X e

© (A) R B)

(D) TH | =8 7

AL T, 1, <%
(B) W= wftraw A
© T I, =
D) T T Jog

‘TR TEH __ 7S W
(A) TRX

(B) &=

(©) (A) 3R (B) S

D) FTH q FE 7

fie & & fou - @89 =R o=
g ?

(A) =X

~ (B) AR

(C) TRT-FH =X
D) W gt 9o &
. ' (75)

96.

98.

99.

100.

"Woldwide largest printing job is :

(A) IPL Brouchure, 2013
(B) IKEA catalogue, 2008
(C) FIFA world cup, 2010
(D) None of these

‘Potato -printing’ is _____ type of
printing :

(A) Serigraphy

(B) Lithography

(C) Calligraphy

(D) None of these

CMYK stands for :

(A) Cyan, Magenta, Yellow, Khaki
(B) Cyan, Magenta, Yellow, Kabe
(C) Cyan, Magenta, Yellow, Black
(D) Cyan, Magenta, Yellow, Keppel

. An image created by photoshop

software is :

(A) Vector image

(B) Raster image

(C) Both (A) and (B)
D) None of these

RGB stands for :

(A) Red, Green, Black

(B) Raster Graphics Bench
(C) Red, Green, Blue

(D) Red Green Balance

‘Mlustrator’ creates a ___ image :
(A) vector

(B) raster

(C) both (A) and (B)

(D) None of these

Which image will be better to print ?
(A) Raster

(B) Vector

(C) Vector-cum Raster

(D) All of the above are same

—
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Important Notice :
_section has question numbers 41 to 100, total
Garment Technology trade.

1. This sub 60 questions.

2. This sub-section is related with Fashion Design and

3. Candidate has to solve only one sub-section from K1 to K7.
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o fews WU MRS TERicS

41.

42.

43.

4.

45.

46.

- (A) (1, 3)

e y2=dax § AfE y & T H
S 3R B ¥, A SH FEd © ¢

(A) =M@ gE e

(B) THi HEl Wadd

(C) HuRgEl Ree™

(D) ¥4 4 &% T
Wy_%xmazﬁ@wm
ITH g w1 AT T R, T o

®B) (2, 0)

© @, 12) D) 6, 15)

fFdt waem | 9 dEms SAiyas
@i S 9hd ©

(A) 3 B) 2

€. -1 D) 0

WA IW x cosa+ysino=p &l

2 2
AfereRerer %—-—Z;:l I WY wH
EalIGERS] 'éT‘TT N
(A) a?sin? o —b%cos? o= p?
(B) a?cos? o — b?sin? o= p?
(C) b?sin? o —a?cos? o =p?
(D) T ¥ Hg &l
fag (0, 7, 10), (-1, 6, 6)34"11(-4 9, 6)
BRI A
(A) wHeg Ty
(B) wHmm By
(C) wufgag Bs ’
(D) T A HIE TEl i

d
aymersor, @ L gk
(A) eFsecx[l+tanx]secx
(B) eS¢ *[1 +xtan x]

(C) &> sec x
(D) ¥ | =3 T

Section - 2
(Sub-section - K7)

Fashion Design & Garment Technology

41.

42.

43.

44.

45.

46.

If y axis is on the left side of the
parabola y = 4ax, then it is called :
(A) left-handed parabola

(B) right-handed parabola

(C) up-facing parabola

(D) None of these

The point on the parabola y?=36x,
ordinate of which is three times of
abscissa, 18 :

(A) (1, 3) B) (2,6

© @ 12) D) (6, 15)

Number of normals niay be drawn on
a parabola 1s : :

A) 3 ®) 2

(C) . 1 D) 0

The condition to touch a straight line

x cos ¢ + y sin o = p to hyperbola

x2 )’2

P
will be :
(A) a?sin?a - b?cos? o= p?
B) d?cos? o — b2 sin? o= p?
(C) b2sin? o= a?cos? o= p?
(D) None of .these

Points (0, 7, 10), (-1, 6, 6) and

(-4, 9, 6) will make :

(A) equilateral triangle

(B) right-angled triangle

(C) isosceles triangle

(D) None of these

The value of o ify=e
dx

(A) e%secx[l+tanx]secx

B)rg=*c2[1 + x tan x]

(C) Le* % secx

(D) None of these

Y.5eC X iS .

- - —



48.

49.

50.

51.

_ (C) efsinx

1.5% &, & T Afeerem gfe Bl
(A) 0.75% (B) 125%
(©) 1.5% (D) 2%

e Iex(sinx-’rcosx) dx & HA

T
(A (B) e“.cosx

(D) sinx.co8 X

‘sin x

3 2 '
3113{6'[_1 0]%3:@?%@%-:

Ay L2 ®) 4,2

€y 3.2 D) 6,4
@ﬁéﬁam,i'maemmﬁé
%l%ﬁtﬂﬁ?ﬁﬂﬁ%ﬁmﬁaﬁ
TEEAT ¥ ;

(A) 80 ®B) 40

. (©) 20 D) 10

T HE T 2 HRTS 3 1200 r.p.m.

¥ 1800 r.p.m. 21 S ¥ | TR B0
Fmgfe B

(A) 2n Xfead / q0S’

(B) s Yeamg / Tee?

. (© 10n feg=a / &ve?

52.

(D) 150 Yoo | Y%’

el < AT S W S e AR
WA T
A) TEm¥ (B) W

€) ®% wh T D) T A EE R

(78)

47.

48.

49.

50.

51.

52.

A)

The time period T of a simple

pendulum is shown by T =27 \’Z B
8

maximum errors in / and g are 1% and
1.5%, then the maximum error in i
will be :

(A) 0.75% B) 1.25%
©€) 1.5% D) 2%

The value of Iex(sinx+cosx) dx is:

sin x

(B) e*.cosx

(C) €'sinx (D) sinx.coS8X

_ 3 2
Eigen values of the matrix {_1 0}

will be:
A) 1,2 B) 4,2
() 3;=2 D) 6,4

In a bag there are 3 red, 7 white and 4
black balls. If three balls are picked,
then the probability for the same colour
is : ,
(A) 80
(€ 20

B) 40
D) 10

The_spéed of a motor increases from
1200 r.p.m. to 1800 r.p.m. in 2 seconds.
Its angular acceleration will be :

(A) 2m radians/sec?

B) 5m radians/sec’

(C) 10m radjans/secz

®)

150 radians/sec?

With the increase in temperature of
liquid, surface tension :

(A) decreases (B) increases

(C) has nochange (D) None of these

K



53.

54.

83,

56.

57.

58.

fopet five O HERE ST GHATTd I
o7 A greaERen § 2, 4 S afoH
&1 HE BAT :

@ -1 ®B 0

Ky (D) @t =&l w WG
T g S S g q9 YR R =t
T gl % TN I FEd T

(A) FibEE T4

(B) <&«

(C) amgI

(D) ¥ ¥ & T

'@%mﬁ,‘wﬁm%wﬁ

yigerer die ¢ ‘ )
() fogfa % wergem €t ©
@) ol % faeimmgamt e @
(C) fogfa & wRER BRI €

(D) fasfa ¥ =9 Bl 8

AuEH a5 A fHguget w gk
(A) FuER Tl €

(B) =®al®

(C) =% Tram &

(D) T ¥ HE T

afs 2 few G @en b wES: Y@t 4B
Jen CD g weftfa fu T &, a1 &
gfestt @1 9@ FA & fFEE T

(A) TEFRR Fg4s @1 e

(B) T @I |

(C) =gYst =i frm

(D) T ¥ 1 TE

sind cosB-cos4

sinB ¥ dfe
A—-B:%, e SH WE TN :

L,
(A) 1 ® 3

3 :
©) \E D) -1

(79)

a3.

54.

55.

56.

57.

58.

(B)

Many coplanar concurrent forces acting
on a body are in equilibrium, then the
resultant of forces will be :

(A) =1 (B} 0

© 1 )
The ratio of distance travelled by effort
and the distance travelled by load is
called : _

(A) mechanical advantage

(B) efficiency

(C) velocity ratio

(D) None of these

sum of all forces

According to Hook’s law, within elastic
limit intensity of stress is : :
(A) directly proportional to strain
(B) inversely proportional to strain
©)
D)

With the increase in temperature, the

equal to strain
less than strain

resistance of alloys :
(A) rtemains same
increases
decreases

None of these

©)
D)
If two vectors @ and b are shown by |
the lines 4B and CD, then the law to
find the sum of them is :

(A)
(B) Cramer’s law
(C) law of polygon
(D) None of these

law of parallelogram

T it A oo B-cosAéinB,‘A—B=%,

then its value will be :

A 1 ®)

| =

© 43 ®) -1



60.

61.

62.

63.

24 e
(D) ixr

af i o IO A F T 2f

-@wr@@,ﬁmuﬁﬁmaﬂm:

(A) 2f |

(B) o W

© f™

@) T ¥ wE T

i e S o & T &, 1 W
famer O T

(A) T A

(B) @@ T1H

) de @ H

D) T & fE # @ R
@m@mﬁaﬂng@m%l
e R R -

(A) 20 FHL.

(B) 50 ¥l

(C) 60 L.

@) 100 .

59.

60.

61.

62.

63.

The image formed by the convex lens :

(A) between pole and focus

(B) between centre of curvature and
focus

(C) on focus

(D) . None of these

If incident angle is i and angle of

refraction is r, then the angular

deviation will be @
(A) i+r
B)

If an object is kept at a distance of 2f
in front of a convex lens, its image
will be formed at :

(A 2f

®)

3l

(D) None of these

When white light passes through a
prism, then the maximum deviation is
ik

(A) violet colour

(B) ' red colour

©) yellow colour

(D) None of these

A convex lens has a power of
2 dioptres. Its focal distance will be :

(A) 20cm

- ®B) 50cm

() 60cm
(D) 100 cm
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64.

68.

65.

~ 66.

67.

@wqmﬁ#mﬁq%m
ﬁ»’ﬁﬁ?ﬁ%:

@) M= fpl Mt

D
1 +D D

© M=f—f- D) M=f;

T IR H 2.5 AR &t YR Yeied sl

T1ar H ¥ g 20 T ® foeaw
afed g ? :
(A) 3000 e

(B) 5000 HeT

(C) 7500 Ferwl

(D) ¥ ¥ W T

=fe ford ar = EiF R R T T
G 9H, a‘rmwuﬁﬁam:

(A) frrn
(B) AT
(C) = sgad Tal

(D) ¥ ¥ FE T

et uig &% R § foEgd ¥ 1 YA
1 % FRO B ©

(A) [ (B) W
©) gaas%aa‘ﬁ (D) T8 A i T

oot # femme 7w uftey # @ &1 faan
oA (e.m.f.) BN :

A

2V
T LA

B) 1Q
®) 0

A) 7Q
©C) 4Q

(81)

64.

65.

. 66.

67.

68.

The formula to find the magnifying -
power of a simple microscope is :
M= f e, D '—f

o) - = e

v D f+D
ML=
© ¥ D

A current of 2.5 amperes passes

@) M=

through a wire. How much charge will
flow through the wire in 20 minutes?
(A) 3000 coulombs

(B) 5000 coulombs

(C) 7500 coulombs

(D) None of these

If length of a wire becomes three times
after stretching it, then its new
resistance will be :

(A)
(B)
©)
®)

Current flows through a metal wire due

three times
nine times
no change

None of these

to the following reason :
(A) Neutron (B) Proton
(C) Free electron (D) None of these

In the circuit shown in the figure the
e.m.f. of the cell will be :

A

om % 30
@) 79 ® 19
(C 4Q D) 0



69.

70.

71.

72.

2

74.

as.

@ﬁgﬁrﬁaaﬁwsﬁ 5kW ¥1 38

qﬁﬁ?eﬂ%ﬁa% 30 feA 9% T
5 @ R fea T B

(A) 900 FFE B) 600 o

© 450 g O 180 I

ﬁw@awmwﬁm%:
A Em®E (B) EiEzanical
© TwAF D) SIERED

u@@wﬁa‘hﬁ\?ﬁﬁﬁ%,
¥

(A) T

@

©

(D) e

et w1 e I g
(A) wrEERS

(B) TWES

() ¥

D) TH ¥ FE T
aﬁ(ﬁmﬂﬂmﬁﬁm@mﬁmgﬁ@m
1 S ST T
(X) a2 @) 13
(©) 14 ® 2

S i SRS T .
@A) AL0, ® KO
©) P05 @) MgO

(82)

69.

70.

71.

72.

73.

74.

75.

_’

The capacity of an electric motor is
5 KW. If it is used at the rate of 6 hours
per day for 30 days, then the electricity
utilised will be : ;

(A) 900 units @B) 600 units

(C) 450 units (@) 180 units

Coil of a electric heater is made of :

- (A) steel (B) nichrome

(C) tungsten (D) copper
Metal, which oxidises e"dsily, 183
(A) copper

(B) silver

©) aluminium

@) platinum

Ore of aluminium is :

(A) bauxite

(B) cuprite

(C) tuby

(D) None of these

The volumetric ratio of nitrogen and
hydrogen in manufacturing ammonia

gas 18 :
(A) 1:2 ®) 13
() 14 by 21

Acidic oxide in the following is :

) AL, ® KO

(©) P,0s ®) Mgo

Two or more than tWO organic
compounds may be represented by the
<ame atomic formula. This property is
called : '

(A) isomerism B) equality

©) uneqliality (D) None of these

K



76.

77,

78.

79.

80.

81.

82.

yanTen § ey {59 e dife
1 T goT, 9% T :

(A) e (B) e

(C) TfHiew s (D) =T
FEfe ARl # ged: oY Iufeed
B4 T

(A) EME: T

(B) UMM &Y

(C) wE-Tas a9

D) T | HE T/

= 5 9 srdgw difs ©

(A) C.H, (B) CH,

(0, (D) THARE T
el T Ay H e R T SHeier

[ foFa % sAT ©

(A) A HAISARIRS

(B) A TEHAFIES

(C) wHET TRFES

(D) TH § FE T
A B 9 I A gl a9 §
(A) MW

(B) wifezm faeihe

(C) wmifes 3w

(D) FTH § F T

fordt waea ® Schsal %1 79 8T ¥

A 0 By 221

€ 1 LS

T goft, foed & =+t den €ifaa gt
T ot W b fire feet den o
= far <1 9ar 8, S® Fed ®
(A) TfRfaa goft :

(B) oyufifaa goft

(€) TR Foft

(D) T ¥ = &

" (83)

76.

TH

78.

79.

' (A) methane

First organic compound made in the
laboratory is ;

(B) urea

(C) acetic acid (D) sugar

In organic compounds, linkage is
mainly :

(A) ionic linkage

(B) normal linkage

(C) covalent linkage

(D) None of these

Unsaturated compound in the following
is :

&) GH,  (®) CH,

(C) C,Hg (D) None of these
When ethylene is burnt into the

atmosphere, it reacts with oxygen and
forms : ‘

-(A) carbon monoxide .

(B) carbon dioxide
(C) carbon hydroxide
(D) None of these

Element to produce foam in the soap
solution is :

(A) resin

(B) sodium silicate

(C) carbolic acid

(D) None of these

The value of eccentricity in a parabola
is :

A) 0 (B) “ =1

© 1 ® 2

The series, which has limited terms or
the series in which terms are shown in
any number after counting, is called :
(A) finite series

(B) infinite series

(C) geometrical series

(D) None of these

-



83.

84.

85.

- 86.

87.

88.

1@[151%aﬁaﬁaﬁmﬁwﬁw@ﬂ
B0

(A) 5200
(®) 5700

(B) 5500

(D) 971

(x+a) 3 TR F A F (A TR :
(A M iR

B) ch+r 5 atT
Torde oo
©) T § B W

i 1 R WO A

(A) Fued ¢ (B) siferr et ©

(A) FER

B)

(C) HH=EE

@) TH & W
maﬁwﬁ@aﬁw%m
sy &1 G T '

b++b? +4ac

2a

_p+b* —4dac

2a

©) baAb? +4ac

a
D) = A FE

(A)

(B)

ﬁ@ﬁwamwﬁwmm 4% .

2, @ g T
1
® 3

(D) T APE T

A) 1

1
© 7

83.

84.

85.

86.

Sum of all even numbers between 1to
151 will be :
(A) 5200
(C) 5700

(B) 5500
@) 971

(r+1)th term from the end in expansion
of the series (e+a) 1s

(&) "EL F
B) ncn+r N :
(©) ne

n+r

(D) None of these

The mass of neutron in comparison
with the mass of proton is

(A) less (B) more

(C) equal . (D) None of these
The. materials, which allow the flow
of current through them, are called :
(A) conductor

(B) insulator

(C) * semi-conductor

(D) None of these

Sridharacharya’s formula to find the
roots of an equation s

b+b? +4ac

A
(A) 7
_ptAlb? —4ac
B) ——
2a
bi‘db2+4ac
() ==
a

(D) None of these

If sum of a aumber and its inverse 18

1 :
41 then the number 18 :

1
@ 1 T
© 7] (D) None of these

K



89.

90.

91

92.

93.

94..

. 98

~(C) 96059601

750 %1 7 e H B

5 3
@ I 2
- o

sin 55°.cos 35%cos 55°.sin 35° &1 HM

B :
A) 0 B) 1

o -1 (B = 90 ¢

. TH T H owng 12 9., =R

4 o, qaﬁmha@ﬁr%a‘rwﬁ

g B
(A) 3 9.
(C) 8 &L

J26 1 T VHed & =R 3% 9%
BT :

(A) 5-0880
(C) 6-0990

‘®) s @
(D) 17 9.

(B) 5-0990
‘(D) FH § wE T

1—cos2x ] @

2D
1+cos2x

s y— dx

QU
(A) tan?x (B) sec’x
(C) cosec?xr (D) T @ HE 7@

i
[x—;J T HET S BT :

(A) 724

B) 924
(C) 1024
(D) 132
g9 w99 5 994 HH I
(A) 76059601 (B) 76059

(D) 36059601

(85)

89.

90.

91.

2.

93,

Value of 75° in radian is :

5m 3n
(A) 1 (B) 1

W ris
© B By

The value of
sin 55°.cos 35%+cos 559.sin 35°
will be : '
@A) 0 ®) 1
0 -l (D) 90

A cuboid has length 12 cm, width
4 cm and its diagonal 13 cm, then its
height will be :
(A) 3cm
(€} % om

~(B) S5em
D) 17 ecm

Value of /26 upto four digits of
decimal will be : i
(A) 5-0880
(C) 6-0990

_ [1=cos2x ay .
If y T then = will be
equal to :

(A) tan®x (B) . sec’y
(C) cosec’x (D) None of these

(B) 5-0990
(D) None of these

12
Middle term of [x—l] will be :
] X

(A) 724
(B) 924
(C) 1024
(D) 132

The value of 99* by binomial theorem
will be : ;
(A) 76059601 (B) 76059

(C) 96059601 (D) 36059601

—

— e



96.

97:

98.

99.

100.

29 26 22

s A R 'ﬁfﬂﬁ@"'ﬂ
63 54 46

(A) 132 B) 231

(©) 321 ) 123
Hﬁ‘m’TﬂT'Zy—3z=0,x+-3y=—41!,ﬁ
3x+4y=3@%ﬂ1ﬁm@f€zm%rm
ﬂﬁﬁ:

(A) x=3,y=2,2=2

(B) x=5,y=—3,_.z=—2

(€) x=T7,y=3,2z=2

O) T ¥ HE T

Ifz 3 Fed F @IS TR FHMARR
o @ 5% FEd © ¢

(A) WI T

(B) THM X

(C) TH@E JoR

(D) T § HE T

o= 9 AB, AC, AD, AE T AF &t
rvess ¥ W A W FEW TAR

mﬁwmoﬁr,ﬁzﬂ%mﬁf
%1 HE B

(A) 640 B) 404

0 | 220 D) a0
5+xi_§ ‘

7fg 5 —z,ﬁxmnﬁz‘m.

(A) 0 (B) 10

(C) -10 (D) 3T | HIE T

29 26 22

56, e et thnl . o

| 54 46

will be : :
(A) 132 B) 231
(G .4l D) 123

97.

98.

99.

100.

Solution of the equations 2y —3z=0,
x+3y=—4, 3x+4y=3 by Cramer’s
rule will be :

(A) x=3,y=2,2=2

B) x=5y=-3,2=-2

)y »=lsy=dsnsd.

(D) None of these

If line segments of two vectors are
parallel to each other, then these are
called :

(A) like vector

(B) equal vector
(C) collinear vector
(D) None of these

Five forces AB, AC, AD, AE and AF
are acting at vertex A of a regular

~ hexagon. If O is the centre of the

hexagon, then the value of resultant
will be : : :

(A) 6A0 (B) 40A
©) 240 @) 40 -

S54xi B - y
If == then the value of x will

2 2

be :
A 0 B) 10 :
(© -10 (D) None of these



